'Algebra 1 (3206) Name:__ KEY

Final Exam Review Term 3, Chapter 8

Write each number in scientific notation:
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Simplify each expression. Write each answer in scientific notation.
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Simplify each expression. -
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I Write an exponential function to model each situation. Find each amount at the end of the
specified time. 9 =0 - {Q%

22. A town with a population of 15,000 grows 3% per year, Find the population at the end of year 10.
100% + 3% = 10B% =« L0
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Y=15000 -(1.03) = 90,158.T% = | 90,158
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23. You buy a new computer for $5,000. The computer depreciates in value (loses value) at a rate of
13.5% each year. How much will your computer be worth in 8 years?
{Qgﬁ?’awg'%ﬂg%‘ = 8%.‘5%{} . o g p—
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24. The starting salary for a new emplovee is $32,500 per year. The salary will increase 8% per year.
What will the salary be after 5 years? After 10 years? 160% + 8% 108 e
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25. A city of 2,950,000 people has a 2.5% annual decrease in population per year. What will the
population be after 7 years? OO 5% = 9.8 ‘% -5 O
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u= 9250,0000-NSY = [3470,895




